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TEMEL OGRENME BECERILERI TEST]

1.Bu test sizin soyut diisiinme becerinizi élcmek icin
hazirlanmistir.

2.Bu testte 80 soru vardir, Sinav siiresi 120 dakikadir.

3.Cevaplamaya istediginiz sorudan baslayabilirsiniz.
Cevaplarimizi isaretlerken soru kitapeigindaki soru
numarasi ile cevap kagidindaki cevap numarasmin aym
olmasina dikkat ediniz.

4.0ndalik kesirleri gostermek icin Tiirkce metinlerde
virgiil(,) kullanilir.
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THE BASIC LEARNING SKILLS TEST

1.This testis designed to measure your abstract reasoning
skill.

2.This testis comprised of 80 questions. The exam duration
is 120 minutes.

3.The questions need not be answered in any special order,
but make sure that the number on the answer sheet does
indeed correspond to the number of the question you are
working on in the test booklet.

4.Decimals are indicated by a comma (,) in Turkish.

TECT OCHOBHbIX YYEBHBIX CITIOCOBHOCTEM

1./laHHEBIH TecT pa3paboTaH C [e/bl0 OLleHKH Ballero
abCTPaKTHOT O MBILIIEHHSA.

2 JlanHEBIH TecT cogep:xuT 80 BonpocoB.
[IpogomxuTeNnEHOCTE 3K3aMeHa 120 MUHYT.

3.MoxeTe NpHUCTYNAThL K OTBETY C 1}000r0 BONPOCA TECTA.
[Ipu 0603HaYeHUH OTBETOR Ha BONPOCHI ByALTe
BHHMMATe/BLHEI , YT0OB! HOMEepP BONPOCA TECTA COBNAAAN C
HOMEpOM MHCBMEHHOI0 OTBETA.

4.YT068! NOKa2aTh JeCATHYHLIE p00H B TYPELKHX
TeKCTaxX UCIOJb3yeTcs 3andaTad ().
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1. DUMLUPINAR = 3476415829

= PUANLI =?
A) 124865 B) 142856 C) 142865
D) 341856 E) 324865

2. 1 1

35624 46978

72653 69287

65372 96482

42356 78469

53427 28964

= 549723 =?

I. Gruptaki sayilarin rakamlan birer rakam ile gosterilerek
Il. Gruptaki sayilar elde edilmistir. Buna gore, 549723
hangi sayi ile gosterilmistir?

The numbers in group Il. stand for the number in group |
when each number has been coded with a specific
numeral. Which number corresponds to 5497237

Kaxdas yughpa coomsemcmsyem yughpe. Liughpei 6
nepsoul epynne coomsemecmeyrom uughpam smopol
epynnbl. Beibepume kakue u3 yughp nodxodam 549723
K 3momy Habopy uughp.

P N 3.‘.;.‘1':\1‘ z.c.}.;;.nli PER) L;lr, J gaanll al
Jiay H;5.1.‘ 2aall Lo el Comy _L_,,JB‘Yi de gandl
327945 ¢

A) 625789 B) 624789 C) 623783

D) 267843 E) 264879

3. @ABCDEF — FEDCBA

KLMNPRA — RLPNMK

O@TSVXYZA — TYSVXZ

= @KCRXMTA =7

A) KMXCRT B) KMXRCT C) KMCXRT
D) KMRXCT E) KMCRXT
4 ~.270
A
EMD 2315
ANY/V 4 \16/ 6
R K e, .. |7 13X 91
s \ Z 10 712\ 1
INL 8145

KARPUZ = K+A+R+P+U+Z = 68

= SERENAD =7?

Yukarida verilenler belirli bir kurala gére olusturulmustur.
Buna gére SERENAD = ?

The above is based on a certain rule. According to this
SERENAD=?

B coomsemcmsuu ¢ onpedeneHHbIMU npasunamu,
npusedeHHbIMU sbiuwie, kakoe bydem umemb 3Ha4eHue
SERENAD = ?
Lo eclld s Baal g sacld s se i I.:IL"\}:L‘I.A“ sl f,:'
SDANERES 4.3
B) 68

A) 69 C) 67

D) 66 E) 65
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5. x@y =x+ 3y _ 7. 5 £3=20
ey sty }:(5@1)@(1@1)—? §
4 X2=12
A) 48 B) 32 C) 24 6280
7 £3=2
D) 21 E) 15
A) 10 B) 16 ) 21
D) 28 E) 35
6. 31 x 4 4 9 1 x 8. 2™ =4x +5y =
+ 6 y 9 5 - 3 y 0 1
100 1 9|’ 1 1 % 1 31 =7?
= x,y =?
A)1 B) 5 €)9
il Y D)3 E) 4
A) 8 2
B) 6 2
C 2 8
D) 8 0
E) 2 6
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9- QD QT8
EPEn
TS Ty - + " — 33
g )E EpE))
ENiEN
+ L) + = 24
[I(Ej’ﬂ ’:’ *
t 3, o BWE
bkt et om
=5 Bk >E + @) =2
A) 17 B) 16 C) 15

D) 14 E) 13

10. + | a b c
a |12
b 5
C
Sla—-b—¢cj(a+b+ic)=2
A) 11 B) 110 C) 60

D) 36 E) 119

11.
Sonug
Result
Pesynbrart
8 6 1 27
7 3 2 45
9 6 3 39
4 2 5 ?
A) 40 B) 27 337
D) 20 E) 18
e a|b C X | a b C
a 36
10 b
c 54
=>c=7?
A)S5 B)6 Q7
D)8 E)9
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13. + a b C
a 10
b |2c-3
C 3a-1
a,b,c>0
=>ac+b=7?
A) 29 B) 27 C) 25
D) 23 E) 21
4. | 3 | > a2 a|—a® a|—a*
2
3 — 59
4
2
4 — 2
=> H
-
A) 126 B) 128 0127
D) 129 E) 125

15.
2
2
1 1
1
2
A1 B) 2
D) 4
16.
AEE
OERO,
G+ ()
A) 42 B) 39

D) 53

1
2
2 1
1
2
C)3
E)5
=324+41=10
= 6.5 + 5.4 =50
=2
C) 47
E) 54
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17. 18. Asagidaki denge sekillerinden dengenin saglanmasi igin

“? "yerine hangisi gelmelidir.

Which one should come come instead of “? " to prvide
the balance from the balance shapes?

Credyrouiee nomnoxeHue pasHosecus banaHca ons «?»
emMecmo «Kakol.

_ujiﬁé&d;@l(?)u&é{eui@lﬂﬁu

Yukaridaki sayi diziliminde (?) yerine hangi say1 gelmelidir? %'
What number should be used in place of the number B
sequence (?) Above? ©® B B o

Kakoli Homep criedyem ucrnonb3osames Mecmo
nocnedosamerneHocmu Yucen (?) Boiwe?

So3lef (9) Al Judish e Yy Aot Cany (o3 8 )01 L

[
A)8 B) 6 )7
D)5 E)9 %}
©%e
T
% ] ?
1

A® B)O®S® 0&e®

D) E)
®9®0 &8E8 S
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19.

A

Sekildeki terazinin dengede kalmasi igin soru isareti (?)
yerine hangi agirlik konulmalidir.

Which weight should be put in place of the question mark (?)
So that the scale in the figure remains in balance.

Kakoli sec cnedyem nocmasumes sMecmo 3Haka sonpoca (?),
Ymobsl banaHc Ha pucyHke ocmasarsicsa Ha banaHce

() Al Aade (e Yoy dmaza g Cany () ) ol L iy el Aall)
YUY P < I 8 = EEN T EX N

A)3 B) 4 C)5
D) 6 E) 7
20. L. 1.
6 10 11 6
104 69
2 7 3 12
111.
17 10
?
7 5
A) 170 B) 130 C) 176
D) 140 E) 172

21.

22,

B)

D)

V] B

7
v

r
i
I

LL:]E

) JE7
o ° L

E)

i
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0

B) ®

&

E)

D) ¢

E)

D)

B)

A)

INEIEYD

24,

S



DPUYOS 2020

A

117JL
O 44 Y
" W W

r4

28.

/\
/] <

A) ? B)
D) R

v
N

E)

C)><

29.

e i
XXX
-
A)Q_I_Q B),_]lg C),_I_‘
D)O—I_' E)+

30.

D)9 E)
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31. Asagidaki sekilde kag Gggen bulunmaktadir?
How many triangles are there in the shape above?
Ckonbko mpeyaonbHukos credytowum obpasom?

h}a&ﬁaes sJ)S'l.aH(_;L‘.‘Y\ d&i‘d! L.fa

/\

Yukaridaki seklin tamamlanmasi igin bos alana kag kiip
yerlestiriimelidir?

How many cubes should be placed in the empty space to

A) 33 B) 34 C) 35 complete the figure above?
CkorbKo KyBLKOS Hy>(HO MoMecmumeb & rycmoe
D) 36 E) 37 npocmpaHcmeo, Ymobkl 3agepuilimb PUCYHOK ebllie?
Al el la sla clile Cog N ClanSall ae oS: A gl
Sodle |
A) 40 B) 50 C) 30
D) 10 E) 20

32.
34, 58 16 19 38 41 ?

s ; | Yukarida verilen sayl dizisi belirli bir kurala gore

| J/ olusturulmustur. Buna gére ‘?" yerine gelmesi gereken saylyi
bulunuz.

/l | The number sequence above is based on a specific rule.
s What does the ? stand for.

e Psdei yucen s coomsememsuu ¢ 0aHHbIM MPasuriom,
[ I/ pusedeHHbIM 6bitue. Boibepume kakoe u3 yughbp nodxodam
nod sHak .?.

Cauny Baad g Boeld Causy oSle ) dlae ) Aludi LSS A

3 La e i | Elix
Tuglalarin hepsi ayni boyuttadir. Bu yiginda kag tane tugla bonh da e A éﬂ 2l J_?"ji.:dl_:
vardir? plesiuy

Bricks are all the same size. How many bricks are there in
this stack? A) 86 B) 49 C) 64

Kuprnu4u sce oOUHakosozo pasmepa. Ckonbko kupnuyel &
3momM cmeke?

P oSl 30 & ghall 2o S, 3l g ghall: Ay yal) D) 82 E) 45
A) 32 B) 34 C) 36

D) 38 E) 40
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Ornek/Sample/ O6paseu/ Ji

35.

A)

0)

E)

B)

D)

.......................

10

Dénme tekerlegi (D) gbsterilen yénde déndiginde bagh kayis
diger tekerlekleri cevirir, tekerlekleden hangisi en fazla déner.

Tied strap when the turning wheel (D) rotates in the direction
shown tums other wheels, which wheel turns the most.

npukpenneH pemeHs, koeda spaljaruweecs koneco (D)
nosopayuUsaeinca 6 yKkasaHHOM HarnpaeneHuu nosopayusaem
dpyaue Koneca, kakoe Koreco epawjaemcs Haubornee.

Olosall Alae e Lavie: Ay gyl (D) PRI Eha}nli N ‘ﬁ
ST USE Eolaal) o Legd ¢ (gAY EOlaall Lad sall o) 5al),

A)C B) E A

D)F E)G
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37.

O o

Yukaridaki sekil bir kiip olusturmak tizere katlandiginda,
asagidakilerden sadece hangi ikisi Gretilebilir.

Only two of the following can be produced when folded to
form a cube of the above figure.

mornbko 06a u3 criedyowux Moaym 6bimb MonyvYeHbl 8

crioxeHHoM sude, ymobsl cehopmuposams Kyb Ha pucyHke
sbiLle.

w@g&j%mémﬁwﬁicmi@@)ﬂiui
skl il

BN\,

A) L1 B) I,V C) 1L, IV

D) I, IV E) IV, V

11

38. Asagidaki sekillerden hangisi farkhdir?
Which of the following Figures is different?

Kakas u3 cnedyrowjux ¢huayp omnuyaemca?

A)

Y

E)

Salbiae A0l QKW e gl Ay pally

B)

D)
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39.

X

Y

Sekildeki kapali kiipiin karsilikl yiizeyine ayni harfler
yazilmistir, kipin agilimi hangisidir?

The same letters are written on the opposite surface of the
closed cube. Which is the opening of the cube?

3mu xe byksbl HanucaHbl Ha MPOMUSOMOIOKHOU

nosepxHocmu saMkHymozeo Kyba. Ecnu saw Ky6 omkpoemcs,
kakol sapuaHm oH 6ydem?

U g Ll €l Gl o 3 8 Cag pall i

fLsakall

X
M|lzlrvlz|x
Y

X
Blz|Y|z|Y
X

Z
olYy |[x|Y |z
X

X
Dy | z8y s Z
X

Y
Blx|Y|X]z
Y

12

40.

A) 0

E)

41. Asagidaki sekillerden hangisi farkhdir?
Which of the following Figures is different?
Kakas us cnedyrowjux ¢huayp omnuyaemca?
sealian, ul QB e Hsi; i jell

A
B)
DN
4?’1

o<
A) A.
N

»‘b

Y

D)

»




DPUYOS 2020 A

42, 12K =9L=4M = 18N

13
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44,

SKL L5 abcOabcab | abc

7 W B=t ?
3
A) 100100 B) 1000100 C) 1000010
A5 B) 6 C) 7
D) 100010 E) 101000
D) 8 E)9

14
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46. 0,03 0,5

A) 40 B) 50
D) 30
47. 1 2 3
2 32
A) —4 B) 4
D) —5

06
0,003 + 0,05 + 0,03

E) 20

C) 60

48, 3 1 .0 E
2_0,2—0,4'0'5:?
0,5 '

13 41
A) — B)9 C)—
)2 ) )3
D) 21 E) 33

J0gs 2
V3—1 V2+1_,
-l '
V5 —2V6
A) V6 B) V3 01
D) /2 E) 2

15
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50. ¢ =543

a?—2V3a+3="7?

A)3 B) 4
D) 6 E)7
51. x+9 2x 11
x—2 x+1 2—x
=>x =7
2 1
A)—— B) ——
) 3 ) 2
3
D) =
)2

05

c)1

A) 0

A) 4

D)7

16

D) 15

52. 2x+5y—7z=28
x+2y—2z=6

B) 5

B) 5

E) 25

E)8

}=x+y+z=?

C) 10

C) 6
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54. x,y,z,t €R

X A
¥ _
2x—3z =>m=?
2y —mt B
A)6 B) 4 C)5
D) 3 E) 7
55, 22018 _ 92017 _ 52016 _ . 91 _3
A)2 B) 21000 C)
D) 22017 E) 22013

21004

17

56.a2+b2_3:>a2 bz_?
a.b b2 +a2 o
A) 10 B) 11 C)7
D)9 E) 8

57, 9x>2—1=0

Coziim ktimesi
Solution set

== Habop pelleHHH ?
Jallde gna
1 11 1
A= B) }—=.,= DR
't plsd o
D)1 E) 0
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58. log\,rg_z(\/§+2) +logﬁ+v;g(\/7—\/g) =3

&)= B) —1 C)0

D) 1 E) 2

59, logs(2x +85) =3

A) 16 B) 17 C) 18

D) 19 E) 20

18

6&h%@3—mu?+a=3
xX—

=>a=7?

61

lim

D) 3

f -2 _

B) 1

5

x—3 x2 —9

= lim

A) 20

x—3

D) 32

f(x)+2x—8

x—3

B) 26

E)4

E) 43

)2

C) 29



